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Que.No Question/Problem marks Link

Q 5 c )

Question:
A leather belt is required to transmit 7.5 kW
from a pulley 1.2 m in diameter running at 250
rpm. The angle of contact is 165o and the co-
efficient of friction between the belt and the
pulley is 0.35. If the safe working stress for the
leather belt is 2 MPa, density of leather is 1050
kg/m3 and the thickness of belt is 10 mm,
determine the width of belt, taking centrifugal
tension into account.
Answer:
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Que.No Question/Problem marks Link

Q 5 c )

Question:
Two parallel shafts, connected by a crossed belt, are provided with
pulleys 480 mm and 640 mm in diameters. The distance between
the centre lines of the shafts is 3 m. Find by how much the length
of the belt should be changed if it is desired to alter the direction
of rotation of the driven shaft.​
Answer:
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Q 6 b )

Question:
A simple band brake shown in figure 2 is applied to a shaft carrying
a flywheel of mass 250 kg and of radius of gyration 300 mm. The
shaft speed is 200 rpm. The drum diameter is 200 mm and the
coefficient of friction is 0.25. The dimensions a and l are 100 mm
and 280 mm respectively and the angle β  = 135o. Determine
(i) the brake torque when a force of 120 N is applied at the lever
end.
(ii) the number of turns of the flywheel before it comes to rest.
(iii) the time taken by flywheel to come to rest.

Answer:
A simple band brake drum:
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Q 6 c )

Question:
A conical pivot with angle of cone as 100o, supports a load of 18
kN. The external radius is 2.5 times the internal radius. The shaft
rotates at 150 rpm. If the intensity of pressure is to be 300 kN/m2
and coefficient of friction as 0.05, what is the power lost in working
against the friction ?
Answer:
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Q 5 a )

Question:
In a slider crank mechanism the length of crank and connecting rod are
100mm and 40mm respectively. The crank rotates uniformly at 600 rpm
clockwise. Then crank has turned through 45° from I.D.C. Find by
analytical method. (i) Velocity and acceleration of slider (ii) Angular
velocity and angular acceleration of connecting rod.
Answer:
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Q 5 c )

Question:

Answer:
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Q 6 c )

Question:
Determine the power lost in a footstep bearing due to friction if a load of
15 kN is supported and the shaft is rotating at 100 r.p.m. The diameter of
bearing is 15cm and coefficient of friction is 0.05.
Assume :
(i) Uniform wear condition
(ii) Uniform pressure condition.
Answer:
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Q 5 a )

Question:
In reciprocating engine the crank is 250 mm long and connecting rod
is 1000 mm long. The crank rotate at 150 rpm. Find velocity and
acceleration of piston and angular velocity and angular acceleration
of connecting rod when the crank makes an angle of 30° to IDC. Use
analytical method.
Answer:
Solution of problem on Reciprocating Engine :
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Q 5 c )

Question:
A belt is required to transmit 10 kW from a motor running at 600
rpm. The belt is 12 mm thick and has a mass density 0.001 gm/mm3 .
Safe stress in the belt is not to exceed 2.5 N/mm2 , diameter of the
driving pulley is 250 mm whereas the speed of the driven pulley is
200 rpm. The two shafts are 1.25 m apart. The coefficient of friction
is 0.25, determine
(1) Angle of contact at driving pulley
(2) The width of the belt
Answer:
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Q 6 b )

Question:
A simple band brake is operated by lever 40 cm long. The brake drum
diameter is 40 cm and brake band embrance 5/8 of its circumference.
One end of band is attached to a fulcrum of lever while other end
attached to pin 8 cm from fulcrum. The coefficient of friction 0.25.
The effort applied at the end of lever is 500 N. Find braking torque
applied if drum rotates anticlockwise and acts downwards.
Answer:
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Q 6 c )

Question:
An engine of a car has a single plate clutch developed maximum
torque 147 N-m. External diameter of clutch plate is 1.2 times its
internal diameter. Determine the dimension of clutch plate and axial
force provided by the spring. The maximum pressure intensity of the
clutch facing 98 kN/m2 and coefficient of friction is 0.3. Assume
uniform wear condition.
Answer:
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Q 5 c )

Question:
Two parallel shafts whose centre line are 4.8 m apart, are connected
by open belt drive. The diameter of larger pulley is 1.5 m and that of
smaller pulley 1 m. The initial tension in the belt when stationary is 3
kN. The mass of the belt is 1.5 kg/m length. The coefficient of friction
between the belt and pulley is 0.3 Taking centrifugal tension into
account, calculate the power transmitted when the smaller pulley
rotates at 400 rpm.
Answer:
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Q 6 b )

Question:
In a simple band brake, the band acts on the 3/4th of circumference
of a drum of 450 mm diameter which is keyed to the shaft. The band
brake provides a braking torque of 225 N.m. One end of the band is
attached to a fulcrum pin of the lever and the other end to a pin 100
mm from the fulcrum. It the operating force is applied at 500 mm
from the fulcrum and the coefficient of friction is 0.25, find the
operating force when the drum rotates in the
(i) anticlockwise direction and
ii) clockwise direction
Answer:
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Q 6 c )

Question:
A single plate clutch with both sides effective has outer and inner
diameters 300 mm and 200 mm respectively. The maximum intensity
of pressure at any point in the contact surface is not to exceed 0.1
N/mm2. If the coefficient of friction is 0.3, determine the power
transmitted by a clutch at a speed of 2500 rpm. Assume uniform
condition.
Answer:
Single Plate Clutch:
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